
 
 

    

13 In this question you must show detailed reasoning. 
 
Find the exact values of the x-coordinates of the stationary points of the curve 3 3 3 35x y xy   . 

   [9] 

 

 

 

                
 

                    
                   

 
                
               

 

 

 

                 

         

 

                 
         

 

           

 

              

 
 

    

 

 

 

 

 

 

 
 

  
 

                      
                       

                  
                  

 

                        
      

 

                  
 

                    
           


